A9d g&x 54
. X = e X XFE SAH EI2ET KNS S
S NES HIZ( % ) PN HIE( % )

£ ES 1,226 0.4 49 0.4
M= 2,075 0.7 75 0.5
s 14,768 5.1 459 3.3
g+ 151,527 52.4 7,398 53.2
e+ 4,255 1.5 205 1.5
&= 13,644 4.7 606 4.4
Schi+ 4,630 1.6 223 1.6
=+ 3,896 1.3 193 1.4
ol 2 CH+* 23,767 8.2 1,291 9.3
AtGt-2 4,537 1.6 211 1.5
=38+ 3,263 1.1 145 1.0
AT 490 0.2 30 0.2
=& 21,503 7.4 1,074 7.7
EDN R 5,633 1.9 255 1.8
Abet = 4,061 1.4 150 1.1
N&E=2 2,817 1.0 186 1.3
= OH&FA] 324 0.1 20 0.1
ERSEN 0 0.0 0 0.0
SAFA] 1,484 0.5 107 0.8
L= Al 146 0.1 15 0.1
&IoH Al 637 0.2 43 0.3




. X = el MEX XEE SH EIRE XNEgE S
IPNES HIZ( % ) PN HIE( % )
S2A 0 0.0 0 0.0
Al 466 0.2 36 0.3
Z ol Al 2,521 0.9 156 1.1
HEZ 118 0.0 12 0.1
HESEA 0 0.0 0 0.0
HHIA 843 0.3 95 0.7
8= 120 0.0 9 0.1
SIS 0 0.0 0 0.0
goll = 146 0.1 14 0.1
2 Al 1,138 0.4 86 0.6
ANEZ 131 0.0 24 0.2
MEZ 42 0.0 4 0.0
FAFA] 2,328 0.8 145 1.0
=F 0 0.0 0 0.0
gz 184 0.1 10 0.1
e 0 0.0 0 0.0
g3z 106 0.0 12 0.1
SSEAl 275 0.1 41 0.3
ots= 121 0.0 8 0.1
et 123 0.0 8 0.1
2R e 174 0.1 9 0.1
&z 62 0.0 6 0.0
JlEf M= Al 819 0.3 43 0.3




Sy X = el MEX XEE SH EIRE XNEgE S
IPNES HIZ( % ) PN HIE( % )

CH=2 Al 333 0.1 20 0.1
CIE Al 201 0.1 10 0.1
d4= 1,163 0.4 108 0.8
& 347 0.1 21 0.2
Al 165 0.1 9 0.1
&= 105 0.0 10 0.1
= 366 0.1 17 0.1
CH& Al 112 0.0 8 0.1
e 70 0.0 3 0.0
=Pl 703 0.2 45 0.3
dEE 117 0.0 9 0.1
== 107 0.0 6 0.0
JIEL 10,937 3.8 184 1.3

A 289,126 100.0 13,903 100




